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Probability

Heavy black line:

Hemsby, B2 scenario

Probability of getting a certain mean minimum temperature
reference period (1961—1990); Heavy red line: scenario period (2071—=2100) — ensemble mean;

Thin coloured lines: scenario period (2071—2100) — ensemble members
0.25[ N ] 025 * ]
o Winter b E Winter b
020 . 020 .
015k . 015k .
0.10F Ny - 0.10F -
r f ] r ]
C 14 ] C ]
0.05— ’j —LH ] 0.05— ]
r ALF ] r ]
0.00C e \ ] 0.00C ‘ ‘ ]
-5 0 5 10 15 20 -5 0 5 10 15 20
0.25[C A T T T T ] 0.25[C N T T T T ]
L Spring ] [ Spring ]
020 . 020 .
015k . 015k .
010k . 010k .
0.05F . 0.05F .
0.00C ] 0.00C \ ‘ ‘ ]
-5 20 -5 0 5 10 15 20
0.25[ ] 0.25[ w \ ‘ | q
F Summer
0.20 — ] 0.20— ]
015k . 015k .
010k . 010k .
0.05F . 0.05F .
0.00LC I I ] 0.00C I I I ]
-5 0 5 10 15 20 -5 0 5 10 15 20
0.25[C T T T T ] 0.25[C T T T T ]
F Autumn . - Autumn .
020 . 020 .
015k . 015k .
010k . 010k .
0.05F . 0.05F .
0.00LC I I 1] 0.00LC I I I 1]
-5 0 15 20 -5 0 5 10 15 20
0.30F ‘ ‘ ] 0.30F ‘ ‘ ‘ w ]
F Annual ] F Annual ]
0.25— ] 0.25— ]
0.20F . 0.20F .
0.15F . 0.15F .
0.10F . 0.10F .
0.05F . 0.05F .
0.00LC I I | 0.00LC I I I |
-5 0 15 20 -5 0 5 10 15 20
Degrees C Degrees C



